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Spring Semester Exam Review
All questions should be done without a calculator except for #28-31. A completed review will be worth a curve on your
exam.

Unit 7 Polynomials

Graph Eg 'OM

1. y=-x(x+3) 2. y=x-1(xpt “tevin 3.y = (x-3)(r+5) 0dd

4. Find the remainder when the polynomial 2x* + x* — x + 2 is divided by the binomial x —2
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5. Find the relative extrema of the function » = —x(’ and list - 5
the intervals where the function is increasing and decreasing [ (0.59, -2.41)
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Unit 8 Rational Functions
Find all asymptotes and graph
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Find the domain of the function
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Unit 9 Logs and Exponents (-0“)-53\}('(’)\‘[ D, 3
Write as a single log
13. log25+1log4 14. 6(loga+lo‘§b) L 15. ln2x+3(lnx;1ny) q
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Solve. Leave answers in terms of In if needed
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You may use a calculator for #28-31. Questions like these will be on the calculator portion of your test.
28. Aradioactive substance has a half-life of 420 years. How much remains ofi 2 oszmple after 200 years? ><
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29. A bacteria culture has zg?'lnmitial count estimate of 4000. After 20 minutes the countis 22, 400. What is the growth
rate, and approximately how many minutes did it take for the culture to double?
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30. $3000 is invested in an account that pays 5% anntal interest. How much more mo%'gy would you make if the
interest was compounded da|Iy for 10 ¥ea\rs instead of compounded quarterly?
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31. How many years will it take an investment of $1000 to double itself when interest is compounded continuously at
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Unit 10 Coni 'hmo =t
ni onics
Tell which conic is represented by the equations
32, 2x+3y°+17=0 rambolq 33, 8x° +4y +3x-2y+17=0
ellipse
34, 3x*=3y* +4x-2y+5=0 35, 6x7—2)° +7x+2y 4=0
Cirele hyprrbila
Write the equation in standard form and draw a graph.
36. —4(x—1)>+9(Y-3)° :iG\/ 37. An elllase with endpoints 38. x + 1'+b\(“' 1/"'0. =0
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Unit 11 Series and Sequences

39. Write the first 5 terms of the sequence whose nthtermis 4, = =n’-3
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a,234S=Q  GyViS- 18

Oy 8=13
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43-44: Rewrite using sigma notation:
4374-8-12-16-20 44.12+3-6-15
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Determine whether the sequence is arithmetic, geometric or neither. If arithmetic or geometric, find the nth term.

45.5,7,9,11,13... 46.1/7,, hH14 47.15, 17, 20, 23, 25...
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Find the sum of the series
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Unit 12 Polar and Parametric
Convert from polar coordinates to rectangular coordinates
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Convert from rectangular coordinates to polar coordinates
52.(-3,0)
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Eliminate the parameter and draw a graph for the following parametric equations
54. x=t+2 Y-)=t 55.x=3+t2"x_~'!-t" 56.x =2cost t1NY 57. x=3cost _t %Y
=t- = b 4 - St = i 01]2|0 = in(- 0 3 6
y=t 5\/2_’_2_‘ y=2t _;JL' y = 2sint ) Jo|2 y = 2sin(-t) [0 |2
.".—E’!r y=*7 P e iy T PP Ay T l-zlo
[\) -4 4 A P
: -1[9]-2 T
P blz]o \("-\’-":Ll 3
——p— M2
V hSING by
a N

Use the graph of f(x) below to find the following limits

g0, m./(x) :D/‘/t—

g1, m f(x)= "l

63, M f(x)= g4, M f(x) = g5, lim f(x) g6, im f(x)=
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